1.

o 28 Aulel A y = 6x ©f Zefzolct. [ ]

Ffofet,

-1

yl

By



2. A (a-2 2+a)7kBUIE BA y = 3:9] TE Yo AL o, 45
0l & Ffoler.

Rl &ia=



2 At

B
T

®
Al 2, 3AF

@ 3|
(4,-2) 8 At
1}
—



[

HHO pnE
dREES BT

y = —4x9) T mo] @ oh WS o5t %
stof vh2A] 1A Az},

F3] ¢ Al 2AHEHE AL
T 1 x8 Fhol F7kehd y o] = St .
524 (-2, -8)2 A

>
=%



v
oo
X
o,
of
8o
Flo
N
rlo

=
(@
-
(@)
oo
=

@ y 7F x off R[S BA AL y = —
@ y 7t x off Hlestal WAL y = 24x
®Q=12,0=4,0 =484t

@ x ©of grol 2 v wh, y of = 2 wi7E



6.

x 9} y7} whale] A ), ok 6l ghof] g
x, y Aol #AAg atofat.
X 6| 8| 24
y |2 3

rlo

2~
T

i



7. yexoldmgslix=11 <L o, y=6°tt. x=2 <L o], y o] =
“Fato2t.

D
=%



L
,_OH

A
B
12

mjn <
o2

©

j=
x
y|A|S8

o, o

SH
=

Fed=t.

y7F x of vke] )
25
5]

8.



W

O 2 SOl x7F S7FE u, y 7t Fadhes A2 BF %
7}, x > 0°]t})

2
@y—2x @y——gx @y——4x
3 1 5
@ y=- @y= ®y=--
X 2x

D 17} @ 27 @ 374 @ 47 ® 570



10.

@y=2 ©y=-- ©y=-
N 2 1
® y=2x @y=- ® y=-x
X 4
® 9,06, 06 ® 0,0,0 ® 9,0,
@ 0,66 ® ©,6 e






12, & T x @ol 0oldd o, y = ax (a < 0) & 2 ==2

@ yA @ yA
o —0¥5

® yA ® yA
045 _OT




